PRERAR 098 ERALFI B BB

SHBARABREARE

S R ANy s B LM F HBARBREAS LA
7B BRI VAR L B o 85 kAR B pE

Line@& %% - @gaofeng

e % 2 E T 45 F 3 0 07-236-7296

1AZRIEE 43> 5354 2540 ; £ 2F o
23 PR T RRALE B TF 0 o BATH -

SRS S A &

2

?%\,LA’\O

’E‘ Fri 3057 FRBHEIPED LPRLIE W EFRBIE
FEEALY O GRREERN TR AR  FRITI B RTEP
FET R ETREG > APV A TR DD TR

Iy

~¢Fﬁfk%ﬁﬁ% ¥ AR S B AT 5
fF W R SR Edg i 5 B 0 P dofe i % Quantitative &2 Qualitative
3 fd A ’}’? = o

Jin
A
\L«
.

¢ B xRk U F R E R B R EE GRTHENE PR
R iﬁ@“m%9+&$ﬁ%waiﬂ%§ﬁ${°¥g

I,

J

ﬁiéﬂvéﬁ%**(Y)mmmﬁﬁ#4%’%P&$ﬁ%m
Fh (S 02 ~g) - d 3 E s KB g% G L3 ki
TiﬁX(LQi?)mw?agé

f(X) = 1!}{59 200 5 _oo<x<00

(=) F¥eH#s*Y=a+bX> pla .
IR T SN S = e VA D = e S 3 IR RN [ VAN DI

® A i ijié\ﬁb‘jﬂﬁié\ﬁo R H W 9
HE MRS ARY P E LR QRS D

7\
I
\—

-

(

Ji
\—
[
k'l
:\'TJ\
~D

SRR



s g E 20 P 288 FE RS COVID-19 (Bf £l g5 )
B AR KA FESE D AR G R RE

ﬁﬁ&a%£Wﬁﬂ¢ﬁ«%mﬁﬁo

(=) BB RIFR 3 0 RADRTEE $%ﬁ¢@ﬂﬁﬁ@p9mm
ERBMF e (TG 10%G A1) 5 R mF R
F 0.1%% MM ¥ BK p B E ERE COVID-19 s (7
F 5 100%-5E* PHEFA o BRI ZEEFFHEFRE
FEFELOEREE (BRI 2458 T (LR1A
Ao ) s £

(=) BRFFEY ZHGFAF R ERLIRE - TREEF
e £ ¢ 0 B R AR/ E S P F EREME R g
FACTIEE L TR RIEY A RFBF LR

!

o

SRR



P ERLE (9 %33‘ RALIIN 3383854

2
5 HpA A B R EARE
F %Mﬁﬂ@ﬂ%% iWL@ﬁ#“ﬁ%%ﬁﬁE%éﬁ”
Bop T EE = 88 TR G YR
Line@& 3% - @gaofeng
TR BT 07-236-7296

L$§%;#4%g’ﬁ,E§525&;é%1Eo
2.7 IRV AFRAEP R ITE 0 R E BAREL o

3. AT S EEA A A o

i
- CRHEA T REF S (I MBFUPLELT L AP PR
D4R e FE P B ks (ICS) ¥ v b L B S
PMOF s ER FALURE ] s H g x L@ 9

Iy

R (ICS) ¢ o FEE G AV AR FR LS o
B4 2019 £ 5 2 R ARETHF R S B0 P ICS TR e

J

CEFEARRLTERE L RE LT P RW G TR 5 TR
prol 2> %2 g2 (All-hazard Management) ; =733 > if £ = B 2R
Mooy T2RTEE ) haE i EBPFITRY 6w L oL

o #5%  (COVID-19) 222 23k » &4 b it A fFehb 4 ok 3
= m%tfﬁ”“?m%@Aﬁ\ww<'“>,w BT
‘i 715 )’Kltb f%/zq.\& )3|J7rf-'-i P Km%@éﬂ% ?

-



L ERLE 095 Iik’ﬁ:‘_ﬂ?‘ g4 3R

LHHBERFBENREAR
sow g A ﬁ%iﬁﬁ%“ﬁ%%ﬁﬁﬁ%ﬁﬁ
%;L B o %’ f,% %1%@7 ‘“ 4 5 88 B AH T PR IE

Line@M&3% : @gaofeng
T% R EIE BREE D 07-236-7296

1.A3R%E X 438 > 538 % F25An:\;’,’—\'2'pfo
2.7 *F PRE 0V A IRMEP XA EE 0 R d BAEE o

Sﬁj‘?ﬁ)‘pf%‘k’ii%"l ’LAQ\O

f
— v TR %%Jmﬁﬁéimﬂ@iﬁ%%&%ﬁ%°ﬁﬁ»
%%%ﬁ&'%g'iﬁ f LAHER 20 05 -840 %
_i%iﬁ}&ﬁ@ﬁ54ﬁﬁ4”%?%ﬁ’ﬂ?K%# Rk
2 1% 5«

= ~ “Sendai Framework for Disaster Risk Reduction 2015 - 2030745 1 4 3%
RAfpEIE R > B H 25 0 T gt L F 5@ (governance )
j‘?” j? i3 "ﬁj o t iﬁ‘f\;’:‘“ ECSIERN Y IDE B J}{f‘—]—ge‘." IR R nZ FE?E’K
Im@ﬁ%ﬁﬁﬁwﬁwafmﬁg%wﬁ?uﬁwy&%%@ﬁ%g;
e e FAIE 3G GRBFLS 0 BT HERL T ER

TRFEARRBE oL IE S ) o

=B BT :mh%‘ﬁ~&§%$@@*% » VAR T
Tl -‘@ii%&’x;&‘@iﬂﬁ g P F T A S LT AR 2

FRACE L AU 3ALE B G B ARBID SRR 2 ik
K E AP LSRR



-~ Build back better
B R ep R
(B 1)

r /2

(FF5 Lt iang

= S g
» Mannakkara % A &

:,a e
P

i o
XX R AAENLSRERILT EE
- BRRTOLFEERELER S > FH
AL

% Build back better -

11'\&]9

HAEEhE
Structural Resiliece

@ o g { = -+
M S E R %% A hdtey LA A AE
. N Muti-hazard based Land-use
Disaster Risk Reduction .
Planning
| | BRFAERFREERROHT
Early Warning and DRR Education|
IR R AL AR
Psychological and Social Recovery
R e)EE AR
Build Back Better Community Recovery
AR 2
Economic Recovery
AR
Institutional Mechanism
A AT
— Effective —
Implementation

ERBHE
Legislation and Regulation

BT
Monitoring and Evaluation

B 1

ot 3% p Mannakkara, S., Wilkinson, S., Potangaroa, R. (2019) Resilient post disaster
recovery through building back better, NY: Routledge



A ERAF 100 % ERMLII B Y Y

PLHAERAABYREAE

T T I PP LT HBAERBREL AR
FOpER BE AT RS 25

TELAEA

—

Line@& 3% - @gaofeng
2L EE 07-236-7296

laz345 4 <48 824100~ 5 X473 -
2.3 4R T ARALD XA TE 0 i bd BATH -

371%’}[-,_![)_1]6‘ i"ﬁ%”l)‘LAJ\O

~ Vocabulary and Phrases : (20 4*)

. Generally, law enforcement must obtain a search to conduct a
search of a person or premise without their consent.
(A) prosecution (B) conviction (C) warrant (D) baton

. Crime scene Is the process of determining the sequence of

events, criminal activities, and logical predictions about what occurred
during and after the crime.
(A) investigation (B) reconstruction (C) evidence (D) experiment

. A wrong decision could seriously the prospect for the

organization. We must think it over carefully before making the decision.
(A) jeopardize  (B) reimburse (C) languish (D) hallucinate

Retaining the status of nationality, even at the cost of economic
independence, is of critical importance to the Ojibwe tribe. It’s a
sovereignty produced by colonization.

(A)paradox (B) paradigm (C) parable (D) paradise

. Mr. Hamilton usually isn’t one to show much emotion. His normal smile

barely curves the corners of his mouth, and his cool Is marked

by a voice with a steady, confident tone.
(A) demeanor  (B) aurora (C) avarice (D) deposition

a2

g~ 1



6. The cookbook contains a wonderful for roast chicken.
(A) system (B) spell (C) vehicle (D) recipe

7. Before Sally and John divorced, they tried a

(A)widow (B) wedding (C) sequence (D) separation
8. to your goals and never give up.
(A) Stall (B) Stink (C) Stand (D) Stick
9. The local hospital is very good, and all the members are very
kind and friendly.
(A)staff (B) stuff (C) private (D) personal

10.Two important secrets for a long life are regular exercise and

from worry.
(A) hope (B) happiness (C) freedom (D) fear

= ~ Translation : (30 4*)

1. Citizens call the police department for many reasons — crime report, fire,
alarm, assault, prowler, suspicious circumstances, suspected child abuse,
domestic disturbance, noise complaint, crowd control, legal advice, asking
directions, lost/found property, vehicle accident, disturbing telephone calls,
parking problems, blocking driveway, blocking sidewalk, stolen vehicle,
stolen vehicle recovery, officer complaint, person down, dead body,
missing person, medical emergency, etc.

2.5 - BUFFLZES  RENRI SRR ML LI L
FERZHFEFE > L ERIL I FEEZ2 P ETEIRIIER/RFF 2 AR
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= ~ Reading Comprehension : (20 &%)

1-7 %%

Turkey’s annual information technology fair, CEBIT Bilisim Eurasia, this
year aimsto 1  a diverse crowd into the e-society debate, especially
2 the use of Internet technologies in government. Cebit Bilisim
Eurasia expects to host visitors from over 70 Countries 3 members of
the press from nearly 20 countries. = 4  the theme of “Competitive
Edge”, Bilisim Summit 2007 and Forum Bilisim will discussto 5 the
competitive power of countries, organizations and individuals 6 ICT
technologies. CEBIT Bilisim Eurasia = 7  this year at the TUYAP

Beylikdiizu Fair.

1. (A) implement (B) attract (C) innovate (D)analyze
2. (A) concerning (B) to have concerned

(C) having concerned (D) concerned
3. (A) much as (B) similar (C) as well as (D) like
4. (A) Among (B) Under (C) From (D) Between
5. (A) perform (B) instigate  (C) mitigate (D) improve
6. (A) by using (B) only used (C) for using (D) to use

7. (A) isstaging  (B) was staged (C) will be staged (D) has staged

8-10 42

Denver police conducted a search on Tuesday of a house at 720 S. Colfax.
Officer Vincent Sully says he noticed someone moving items from a vehicle
into the house. Many of the items matched the description of those recently
stolen from area homes. “This fact,” says Officer Sully, “provided reasonable
belief that this was our suspect.” According to Federal Law such suspicion is
grounds to carry out a search. Police Chief Mancini explains, “The
circumstances did not require the authorization of a search warrant.” The
suspect’s lawyer plans to challenge this view, claiming that the search was
illegal. It is unlikely that this argument will be accepted and the charges will
most likely not be dropped.



Upon conducting the search, officers found what they were looking for,
and more. In the suspect’s vehicle they found three flat screen television
identical to those that disappeared in Sunday’s Water Street robberies. Inside
the suspect’s residence police found thousands of dollars’ worth of allegedly
stolen goods. Among the many items confiscated in the seizure were a ski
mask and a black painted crowbar. Witnesses have reported seeing a thief in
a similar mask break in to cars and houses with a crowbar. Possession of
these objects could connect the suspect with those other burglaries. The
suspect was arrested and an awaiting trial.

8. What is the article mainly about?
(A) The result of a trial
(B) A search and its outcome
(C) A series of violent robberies
(D) A criticism of unwarranted searches

9. What can you infer about illegal searches?
(A) They can result in dropped charges.
(B) They are based on reasonable belief.
(C) They can seize evidence from homes.
(D) They can provide the basis for a warrant.

10.What is NOT evidence against the suspect?
(A) A crowbar
(B) A ski mask
(C) Televisions
(D) An automobile

z ~ Essay : (30 &)
Write an essay on the following topic. The length of the essay should be no
less than 100 words and no more than 250 words.

How does epidemic outbreak impact on the role of police officers ?
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- ~ Vocabulary and Phrases : (20 &)

1. Establishing the point at which to arrest someone is an important factor in

determining the of evidence.
(A) admissibility  (B) interpretation  (C) condition (D) execution
2. If you keep backbiting me, I’ll definitely sue you for
(A) deception (B) defamation (C) exploitation (D) persecution
3. A should be ordered on prostitution.
(A) restitution (B) clampdown (C) stereotype (D) getaway
4. The young boy was caught a scooter.
(A) rolling back (B) raking up (C) ripping off (D) ripping up
5. The purpose of traffic control is two-fold, that is, to traffic and to

eliminate potential traffic conflicts.

(A) deter (B) congest (C) approach (D) expedite
6. Officers are instructed not to act towards citizens in the line of duty.
(A) professionally (B) courteously (C) prudently (D) condescendingly
7. Many people believed that the murder suspect’s actions and his continued threat to
public safety would keep him for life.
(A) incarcerated (B) impounded (C) inundated (D) engulfed

8. Report has it that a senior staffer of a leading law firm was accused of
billions of dollars in stock from an American corporate client.
(A) bedazzling (B) embezzling (C) exerting (D) luring



9. If you use other people’s research results without mentioning the original authors, it

Is thought to be copyright

(A) arraignment  (B) infrastructure  (C) infringement (D) moratorium

10. Even after they were arrested, the criminals prided themselves on and bragged

about their advanced technology in ATM devices and counterfeit credit
cards.
(A) bugging (B) preying (C) banning (D) tending

= ~ Translation : (30 &)

(=) ¢ 3 (154)

(=) #g7 (154)
Society has long looked to police departments to deal effectively with crime.
For a long time the public was content with police departments whose primary
role was to apprehend offenders, so society could hold law Dbreakers

accountable for their crimes.

= ~ Reading Comprehension : (20 &)

(=) @7 e v ¥ % 143 % 54 :

Police research demonstrated the need for agencies to evaluate the _ 1  of their
responses. Both quantitative and _ 2  data should be used as a basis for evaluation
and change. Police departments need to know more about what their _ 3  are
doing. Agencies are _ 4  to find enough resources for performing crime trend
analyses; most also do not conduct proper workload analyses to know how much

uncommitted timeis 5  to their officers.

1. (A) extradition  (B) effectiveness  (C) exile (D) episode
2. (A) illegal (B) scanning (C) qualitative (D) vandalism
3. (A) officers (B) factories (C) corporations (D) income

4. (A) preventive (B) struggling (C) approaching (D) peacemaking
5. (A) detective (B) perspective (C) reductive (D) available



(Z )T w %% 641 % 1048 :

The key to understanding organized crime is to recognize that, like corporations and
other businesses, it exists for a single purpose: to make a profit in a capitalist
economy. The key difference between organized crime and “legitimate” businesses is
that organized crime often makes much of its profit from illicit goods and services
and organized crime is prepared to use illegal means and practices, including violence,
to achieve its profit-making goals. Like legal businesses, organized crime also seeks
to gather and harness political power to assist in the conduct of its business. Once
again, however, organized crime is prepared to pursue that goal, if necessary, through
recourse to illegal methods. Actual violence is rare in organized crime activities, and
is usually related to street-level activities. While violence is bad for business, the
potential for violence is often enough to give organized crime networks a distinct

advantage in the marketplace.

6. According to the passage, the author discusses
(A) illicit enterprise and profit-making.
(B) organizational strategy of a legitimate corporation.
(C) violent interactions among corporations.
(D) organizational structure of organized crime groups.
7. Based on the passage, which statement is correct?
(A) There is no difference between organized crime and legal businesses.
(B) Actual violence is usually used by organized crime networks to occupy market.
(C) Political power can help organized crime to pursue illegal profits.
(D) Organized crime will use political power to pursue benefits, but corporation
won’t.
8. Organized crime often makes much of its profit from
(A) charity.
(B) loan-sharking, gambling and pornography.
(C) big data analysis of market.
(D) state-run businesses.



9. According to the passage, which statement is incorrect?
(A) Making a profit is the purpose for organized crime.
(B) Making a profit is the purpose for legal corporation.
(C) Even violence is not good for business, it is still helpful to organized crime
networks.
(D) Organized crime attempts to accumulate and use political power, by legal
approaches, to assist in the conduct of its business.
10. The word ""advantage™ in the last sentence most nearly means
(A) handicap.
(B) hindrance.
(C) burden.
(D) benefit.

z ~ Essay : (30 &)

Write an essay on the following topic. The length of the essay should be no less than

100 words and no more than 250 words.

The Use of Police Force

The use of force is a double-edged sword for the police. Used properly, force can help
bring criminals to justice. On the contrary, excessive or poor force use may lead to the
criticisms of state violence or public servants' inertia. What are the keys to a

reasonable and justifiable use of force? Write an essay on this issue.
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- ~ Vocabulary and Phrases : (20 & )

Qs 1-5:
1. The police developed as a mechanism to do justice by apprehending offenders and
holding them
(B)accountable (C)appreciable (D)affluent
, police long

(A)admirable
2. Since their primary practical goal was to reduce crime

believed that they were in the business of crime prevention.
(A)ventilation (B)vicinity (C)victimization  (D)viscosity
3. Efforts to concentrate police enforcement efforts in high-risk places, commonly
in controlling

known as hot spot policing, have been found to be

crime.
(A)effective (B)edible (C)enclose (D)excavate
4. Police responses to crime problems can be greatly by securing
productive partnerships with community members.
(C)estate (D)enhanced

(A)emigrated (B)enigma
5. A police focus on controlling disorder has been hypothesized to be an important

way to reduce more serious crimes in
(D)nomads

(B)neighborhoods (C)narratives

(A)nerves



Qs 6-10 : Fill in each of the blanks with a proper word to make the statement complete.
The initial and final letters of the word are given as hints.

6. The procedure for the surrender of an alleged criminal by one state to another

having j n to try the charge is called extradition.

7. Preventive d n allows the judges to imprison anyone who they have good

reason to believe may commit a further crime.
8. If a person is convicted of robbery and sentences to eight years in prison, he or she

will be put behind b s and serve the jail term.

9. The study clearly demonstrates the link between child abuse and juvenile d Y.
10. A voluntary confession is a confession that is given out of a suspect's own free will,

and has not been obtained by force, coercion, or i n.

= ~ Translation : (30 & )

Translate the following short passages from Chinese to English or the other way around.

LF“FR a8~ Mg 2 el Fl ~ 222 2 2 R A4~ 5
FIRFc)e e e HFBIE ~ 2 3 R PAH P EDEPFLE 2L R A M as
% AL -

2. Law enforcement agencies should establish a culture of transparency and
accountability in order to build public trust and legitimacy. This will help ensure
decision making is understood and in accord with stated policy.

= ~ Reading Comprehension : (20 & )
Qs1-5:

1. When a defendant claims that the presence of blood sprinkles on his clothing is due
to the fact that he has touched such clothing with bloody hands, one can
immediately conclude that he is lying.

The fact upon which this conclusion is based is most nearly that

(A) nothing absorbs blood.

(B) blood does not sprinkle.

(C) fingerprints would have been left by the defendant if he had touched the
clothing.

(D) bloody hands will not leave the described mark.



2. The large number of fatal motor-vehicle accidents renders necessary the
organization of special units in the police department to cope with the technical
problems encountered in such investigations.

The generalization which can be inferred most directly from this statement is that
(A) large problems require specialists.

(B) technical problems require specialists.

(C) many police problems require special handling.

(D) many policemen are specialists.

3. In examining the scene of a homicide one should not only look for the usual,
standard traces — fingerprints, footprints, etc. — but should also have eyes open for
details which at first glance may not seem to have any connection with the crime.
The most logical inference to be drawn from this statement is that
(A) in general, standard traces are not important.

(B) sometimes one should not look for footprints.
(C) usually only the usual, standard traces are important.
(D) one cannot tell in advance what will be important.

4. Officer Chang didn't eat anything but small pieces of bread and butter.
The sentence that is closest in meaning to the one given above is that
(A) He ate small pieces of bread and butter but didn't like them.

(B) He only ate some small pieces of bread and butter.
(C) He didn't eat anything, not even the bread and butter.
(D) He didn't touch the bread and butter, but he ate other things.

5. After failing a doping test at the Beijing Olympics, John Peterson was stripped of

his gold medal.

The sentence that is closest in meaning to the one given above is that

(A) At the Beijing Olympics, John Peterson and many others were disqualified after
failing a doping test.

(B) If John Peterson hadn't been tested positive for doping at the Beijing Olympics,
he wouldn't have lost his gold medal.

(C) Since John Peterson confessed having used doping, his gold medal was taken
back.

(D) Although John Peterson failed the doping test, he wasn't disqualified from the
Beijing Olympics.



Qs 6-10 :

Since the early 1990s, the police have become much more interested in a broader
idea of prevention and the use of a wide range of crime prevention _ 6 . The search
for greater citizen satisfaction, increased legitimacy and more effective crime
prevention _ 7  to the traditional tactics used by most police departments led to the
development of problem-oriented policing and hot-spots policing. The operational
paradigms of many modern police departments have steadily = 8  from a
"professional™ model of policing to a community-oriented, problem-solving model.
Growing community dissatisfaction and a series of research studies that questioned

the _ 9 of the professional model’s basic tenets served as catalysts for the _ 10

6. (A) tension (B) trash (C) tactics (D) timber

7. (A) abuses (B) alternatives (C) abstracts (D) amazements
8. (A) evolved (B) enclosed (C) estimated (D) eroded

9. (A) walkout (B) effectiveness  (C) incitement (D) turbulence
10.(A) distort (B) assignment (C) hostility (D) shift

z ~ Essay : (30 # )
Write an essay on the topic : Combatting Fraud

Fraud has been one of the fastest growing crimes in recent decades. The current
epidemic in fraud has been attributed to the rapid growth of the Internet and digital
finance, the vast expansion of mobile phones, and the limited response of law

enforcement agencies. Please describe your opinion about the strategy against fraud.
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1~ % &3 6~ 3 F R
2~ it A 7~ B RiE

3~kHAHE 8~ EHA AR
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= ~ Translation : (30 & )
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(= ) (English to Chinese) : Buying drugs from a suspect is a direct means of
gathering evidence. Undercover drug operations, though dangerous, is useful in
identifying participants in drug conspiracies. Undercover officers should be
intelligent, reliable, confident, and resourceful, and have good judgment and

excellent communication skills.



= ~ Reading Comprehension : (20 4 )

Qs 1-5: Closest in Meaning Test: Find the sentence that is closest in meaning to the

one given for each question.

1. Police officers are prohibited from firing warning shots under any circumstances;
police officers are also not permitted to shoot at a moving vehicle unless the vehicle
being shot at is being used in an assault attempt.

(A) When their lives are threatened, police are authorized to fire warning shots.

(B) Police officers are never allowed to shoot at moving vehicles.

(C) Police officers can shoot at moving vehicles only if a police officer’s life is
threatened.

(D) Police officers can sometimes shoot at a moving vehicle.

2. “Law must be stable and yet it cannot stand still,” means most nearly that
(A) law is a fixed body of subject matter.
(B) law must adapt itself to changing conditions.
(C) law is a poor substitute for justice.

(D) the true administration of justice is the firmest pillar of good government.

3. We must remember what happened in the past so that it will never happen again.
(A) If we could remember the past, it would not happen again.
(B) In order not to repeat the past, we should certainly not forget what happened
then.
(C) Since we all tend to forget what happened in the past, we do the same mistakes
again.
(D) Those who couldn't remember what happened in the past were more likely to

repeat it.



4. Because of his innocent face, it is difficult even today to believe he was a criminal

although it had been certainly proven.

(A) Today it is possible to understand why people didn't want to believe that he
was guilty as he had an innocent face.

(B) If it had been proven that he was guilty, they would believe that he was a
criminal.

(C) It doesn't necessarily mean that criminals can't have an innocent look.

(D) Despite the fact that he was proven to be a criminal, his innocent face makes it
difficult to believe that.

5. French is the only language other than English spoken on five continents.
(A) French and English are the only languages that are spoken on five continents.
(B) French and English are spoken widely in official and commercial circles.
(C) Before English, French was the only language spoken on five continents.

(D) Worldwide, French is the most widely taught second language after English.

Qs 6-10: Based on the passage below, answer the questions that follow it.

Crime prevention through environmental design (CPTED) grew out of the
concept of defensible space developed by an architect and urban planner. Sometimes
referred to as designing out crime, it has become an important tool for police in
assisting communities in crime prevention efforts. The theory is based on the belief
that design of the physical environment can create opportunities for people to come
together and at the same time can remove the opportunity for criminals to act freely. It
does this by concentrating on a facility’s design, landscaping, and security technology,
including a combination of security and police personnel, to create a series of
preventive measures that combine to reduce problems or disruptions to a facility.
These same preventive measures are meant to provide a sense of confidence to the
public that a location is secure.

CPTED is most cost-effective when included in original design plans because this
saves the costs associated with renovating or moving existing facilities. An example of

a CPTED-based renovation in a mall or a transit facility would be moving the payment

®= 3



area of a parking lot where crimes have occurred closer to where it can be seen by
general users or by the facility’s security officer. In this case, the placement of the
payment area increases safety through the environmental decision of moving it into a
safer area. The same example in a new facility would require someone with knowledge
of CPTED principles considering the placement of the payment area during the design

phase so as to prevent having to move it later.

6. According to the passage, police departments are most likely to use CPTED when
(A) helping communities develop crime prevention strategies.
(B) looking for car thieves on city streets.
(C) designing new police stations.
(D) all of the above.

7. The passage states that CPTED was developed by
(A) police community relations units.
(B) parking lot developers.
(C) a master builder and municipal planner.

(D) private security directors.

8. Based on the passage, CPTED would be least useful when
(A) renovating a suburban train station.
(B) renovating a shopping mall.
(C) renovating a private residence.

(D) renovating a public-access interior courtyard in a museum.

9. According to the passage, CPTED is most cost-effective
(A) in renovations.
(B) in new construction.
(C) when combined with other uniformed patrol tactics.

(D) when combined with plainclothes patrol tactics.



10. As a police officer, you would most likely be expected to have a knowledge of
CPTED as a
(A) homicide detective.
(B) crime prevention officer.
(C) crime scene investigator.

(D) stationhouse sergeant.
2 ~ Essay : (30 & )
Write an essay on the topic: Stress Management in Law Enforcement
No job is immune from stress, but for the law enforcement officer, the strains and

tensions experienced at work are unique, often extreme, and sometimes unavoidable.
In your opinion, how to tackle this work-related stress? Write an essay on this issue.
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(= ) Describe “mutually independent” and “mutually exclusive” in terms of event E
and F, P(E), P(F), P(E~F), P(EuF), P(E|F) or P(F|E) given that P(E)=0 and
P(F)=0. (7 %)
(= ) Describe “clustering sampling” and “sampling distribution”. (6 4 )
(= ) Describe “Type II error” and “the purpose of ANOVA”. (6 4 )

(z ) If X follows normal distribution with mean 5 and variance 9, find

o 2 1 e 1
[Foox® 7™ M2 X 5

~1(%8)° -
e dX] =7 (6 A\)

SR F A2 T () B (F) ES I8 E Sk I ~ T3
BoEReh s s 95w o BKER 2 BRE ZFL T bz o
Hox 4 % % Poisson i 42 o
(NMeB’*ﬁﬁbﬂﬁﬁtﬂﬁ@ﬁﬂu%ﬂkﬁﬁﬂ:%)

(-) T-&Fpmasnah REZHF?2 (T4)

() T-EEBX 2% XEPPF 2?2 (281 ~1T) (84)

(z) T-&2Fp 2=k RBH> P 2=xF 5% h 2352 (104)

(Hint: What distribution does (X|X+Y) follow? )
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- ~ Vocabulary and Phrases : (20 &)

1.digital evidence

2.informant

3.INTERPOL

4.polygraph

5.in the line of duty
soon after the police force put

6.The violence outside the city hall

down the riot.
(C) redirected (D) instilled

(B) subsided

(A) expired
7.The police the whole area after fires were discovered in the
high-rise building.
(A) cordoned off (B) congested with
(D) emancipated from

(C) posted to
against the death sentence to the Supreme Court.

(C) adjusted (D) appealed

8.The accused

(A) adhered (B) accommodated



Q. IS a person who is involved with another in the commission of a

crime whether as a principal or as an accessory.

(A) Escort (B) Accomplice (C) Abettor (D) Informant
10. He gave a to the police telling them how he killed his wife.

(A) commitment (B) narrator

(C) commandment (D) confession

= ~ Translation : (30 &)
(=) ¢f& (10 4)
IR ARRT O PRRELD FERE  F o THEFERFE R
A2 Efrahpie c ARTH{RE LR EPHMEFIRE TR AR
EHpEs ~FREEH BB ER AT EE S FEAF T R R
e A

/
EREFPRFT ODEAE AR RERPE RS VRANRT

R
7

(=) &= (20 4)

1. The treatment to be given the offender cannot alter the fact of the offense, but
we can take measures to reduce the chance of similar acts occurring in the
future. We should banish the criminal, not in order to exact revenge nor
directly to encourage reform, but to deter that person and others from further
illegal attacks on society.

2.A police officer is permitted to use the amount of force necessary only to
overcome the resistance or aggression that is presented by the subject. When
the resistance or aggression is reduced, the officer must reduce his or her force

correspondingly.

» Reading Comprehension : (20 &)
(=) T w 5% 141 % 54
Marco Polo literally changed the Western view of the world. European maps in

iy

his time were _1 on Biblical interpretations and classical mythology.
Jerusalem was at the center. At the margins the map-makers drew monsters and

savages, because there, _2 the Christian center, Nature herself was believed



(

to be monstrous. Then _3  Polo’s book Travels, describing great civilizations
in the East, and a world not centered on Jerusalem, politically or
geographically. This recasting of the world into a more dynamic and
multi-centered geographical space was the first step toward _4 we now call
globalization. Travels appeared in popular anthologies circulating in Europe in
the 15th and 16th centuries. Christopher Columbus had an early copy, and
made notes in the margins. He later _5 America while searching out a

western route to Polo’s Cathay.

1. (A) based (B) place (C) situated (D) supported
2. (A) in the vicinity of (B) far from
(C) in lieu of (D) close to
3. (A) came (B) existed (C) lied (D) stood
4. (A) which (B) what (C) that (D) where
5. (A) jumped into (B) took after
(C) bungled into (D) diverged from

FiETw ES 6481 % 1048

In recent years, issues of public and personal safety have become a major
concern to many people around the world. Violent incidents in fast food
restaurants, parking lots, hospitals, schools and colleges, and shopping malls
have led many to seek greater security inside their homes and in many public
buildings and areas as well. Sales of burglar alarms, motion detectors, and
closed circuit television systems (CCTV) have skyrocketed since 2000.
Convenience stores, gas stations, jewelry stores, and even the postal service
have barricaded their staffs behind safety glass enclosures and focus cameras
on many work stations that involve handling money. Communities employ
private security forces and encourage homeowners to install alarm systems and
other security devices. While some people sympathize with the reasons behind
these efforts, others have voiced concern that these measures are helping to
create a siege mentality. There is fear that such a mentality will lead to a
general distrust of others among people that could foster a dangerous isolation
within neighborhoods and among neighbors.



6.The passage suggests which of the following about community security?

(A) Communities are more dangerous today than they were before the year
2000.

(B) Too much concern for security could destroy trust among neighbors.

(C) Poor security has led to an increase in public violence.

(D) Isolated neighborhoods are unsafe neighborhoods.

7.The word foster in the last sentence most nearly means

(A) adopt (B) encourage (C) prevent (D) secure

8.The author believes that

(A) More security is needed to make neighborhoods safer.

(B) People should spend more on home security.

(C) People should not ignore the problems created by excessively safety
concerns.

(D) Security devices are the best protection against violent crime.

9.According to the author, security devices have skyrocketed since 2000. What
does it mean?

(A) People like to live a life full of variety of security devices.

(B) The need of security devices has dramatically increased among people.

(C) The prices of security devices are on the increase.

(D) Security devices have changed a lot since 2000.

10.1n the second last sentence, the phrase siege mentality means
(A) hostility (B) defensiveness (C) fear (D) corruption

z ~ Essay : (30 &)
Write an essay on the topic : Police Visibility
Do you agree or disagree with the following statement ?
Increasing police visibility is a good policy to better public security:.

Use specific reasons and examples to support your opinion.
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— ~ Suppose that explosion accidents on a particular city occur on the average about
four times every year. If the occurrence of explosion accidents on this city
constitutes a Poisson process, ( Note : HAAEEMNIEHI R FEJLIANETEDL
2y

( — ) find the p. m. f. of the number of the explosion accidents. (6 73 )

( _ )Suppose further that and the proportion of causing fatal explosion accident is 1/4,

find:
1. the p. m. f. of the occurrence of fatal explosion accidents, and ( 9 73 )

2. the probability of exactly one fatal explosion accident in a given year. (10 73 )

— -~ AEE MIRERE

( — ) Describe “least square method” and three different types of sampling
distributions. ( 10 %)

( _ ) Describe “p-value” and “t-test (both matched sample test and independent
sample test).” (10 73 )

( = ) If X follows normal distribution with mean 4 and variance 4, find

l _1(x=4)2 1 _1(x-4)2
0 y2 e 22 dx]- [, X eV dx 2 =7 (545
U—w JZ;Z ] “ o0 JZEZ ] ( B)

KEDWTHFET 1
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— ~ Owing to variety of social and technological changes, the danger level from

(

environmental hazards is increasing. Most of these trends are not directly with
changes in the physical dimension. Rather it is how and where we live. Disaster
has many faces, and some of these reflect technological accidents, while others
are rooted in the despair of the disenfranchised or the ethnic and religious hatred
of extremists who have little tolerance for the diversity among people. Because
disasters come in many faces. ( You can answer this question in Chinese. 2] 8 X

G
EIF=
==

— ) Please state briefly how to differentiate among disaster events.

(_—

) If the research approach is rooted in the empirical and comparative study of
disaster behavior, please state the key principles of the research approach.

- MR QEPIEFRRKERIRRE L N - B KBIRVEEEATE - ZIOT X 4E ?

HEEERER DB - UK ERBNETY) - 2EZETAR SRR ? 1IRE
B WMEZRLB T ? RAMEENZREEEERINE ? WEZEEET ? 57
ZRIBODUEEETHEE  MEAEENE  EREB ZFEGEZA?E
FER—EEZEERNER 2N EFABE N2 - DIBELAAR /fkkE
HEHUF%@WK RILE - MR RY 5 B A & ( local emergency manager ) W78

REEMIBEERNGEK  WEEVNENER - ULOIEERWFK - 52K

BABNXE  Z2VENEARAERS - BHit - KEAEJDIEBHLEER
( evacuation facilitators )- 2R1Z F /= B B S B FR B BIBE RO R - (CRE R RO HER X
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C EURIEEBHRKESHNS EEMMEEAEEN - AIt - KEEER

MR HEEREEEE - ZFOHE MR K EERAETRAR RBMHERN
KIFE - 58 DURELBR ( risk ) ~ X2 ( hazard and disaster ) ~ Bg55 ( vulnerability )

[O17€ 77 ( resilience ) ~ @FEME ( adaptation ) S X RETIKRIEE B T -
KESEE K ((mitigation ) ~ 1% ( preparedness ) ~ FE%E# ( response )
EIR (recovery ) INPEER ZITENNBEHREEER - W= ERAEEIK R
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am WERE T 51 SB35 I B e B S BB RV B3 -
) Recycling-based Society

) Sustainable Development

) Water Neutral

) Think Globally. Act Locally.
)

Biological Pump
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N BSEREZ{EEFIZESE (IPCC ) R 2014 FHIR Y E AR MBS - H
HE T TEAE (WG2 ) DIEERZE (impacts ) ~ #EEM ( adaptation ) M
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S0CIOECONOMIC
CLIMATE PROCESSES
Natural Socioeconomic
Variability Pathways
Adaptation and
Mitigation
Anthropogenic Actions
Climate Change I
I Governance

EMISSIONS
and Land-use Change

5 1



Vulnerability & Exposure

+ Yulnerability & exposure
reduction ¢

+ Low-reqrets strategies &
actions -1

+ Addressing multidimensional
inequalties 41, C-

Risk
+ Risk assessment [f|
+  [torative risk management
%]
+ Risk perception A3, C1]

Anthropogenic
(limate Change

+ iigeton WGl AR5

& A AR

Yulnerahility

EMISSIONS
and Land-use Change

5 2

Socioeconomic Pathways

« Diversa values & objectives (A3
+imate-resilient pathways |01
+Transtormation |C1

Adaptation & Interactions
with Mitigation
+[ncremental & transformationa
adaptation -1 A3, 07
«(o-henefit, synergies &
tradeoffs 41, C4,C)
«(ontext-specific adaptation .-
+(omplementary actions |C-1
~Limits to adaptation |C-1

Governance

+ Decsin making under

Ungertainty (4

Leaming monitorg, & ey

A

Coupdingion acmss sl ), 1)

IPCC (2014) Climate Change 2014: Impact, Adaptation, and Vulnerability. A Contribution of Working Group 11 to

the Fifth Assessment Report of the Intergovernmental Panel on Climate Change. World Meteorological

Organization, Geneva, Switzerland, 190 pp. (in Arabic, Chinese, English, French, Russian, and Spanish)
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— ~ Vocabulary and Phrases : ( 20 73" )

(—) B\HTHR (7%) =hAG8)
() BEfffas (L) REUE
(=) BHURS (J\) B EE
(M) EREER (/1) BLZGIE
(f) BfEzs (1) RRERS

—_ ~ Translation : ( 30 73)

( — ) For at least half a century, police have considered it important to cut to a
minimum of their response times to crime calls. The faster the response, they
have reasoned, the better the chances of catching the criminal at or near the

scene of the crime. (10 73')

( _ ) Officers shall not use their police power to resolve personal grievances (e.g.
those involving the officer, family members, relatives, or friends) except under
circumstances that would justify the use of self-defense, actions to prevent
injury to another person, or when a serious offense has been committed that

would justify an arrest. ( 10 73 )

( = ) The essence of the police role in maintaining order is to reinforce the informal
control mechanisms of the community itself. Areas where community controls

break down are vulnerable to criminal investigation. ( 10 73 )



+ Reading Comprehension : ( 20 73 )

Another large-scale study conducted by William Spelman and Dale Brown and
published in 1984 was also to challenge a core police assumption of that period —
that improvement in rapid response to calls for service would lead to
improvements in crime fighting. This study was developed in good part because
of the findings of a prior investigation in Kansas City that found little support for
the crime control effectiveness of rapid response to calls for service (Kansas City
Police Department 1977). With support from the National Institute of Justice,
Spelman and Brown investigated 4000 victims, witnesses, and bystanders in
some 3300 serious crimes in four American cities. This was another major study
in terms of the resources brought to bear and the methods used. Again it
examined a strategy that was aided by technological advances in the twentieth
century and that was central dogma of police administrators — that police must get
to the scene of a crime quickly if they are to apprehend criminal offenders.

RIBULEAS - BEXEIZELDIMNEE (B8 27 ):

( — ) Spelman and Brown BYfF 5T & 38 RS —2F 2

( — ) 7£ Spelman and Brown FY&T3T 2 B - WHMEIM £ 2= EEE B LTS ?

( = ) Spelman and Brown BY8 5% 2 £ BHMEESFIROSZ 55 M ST 2

( 9 ) Spelman and Brown A 25 & 58 B fHA 52 & B 24 (@ ==y 2

RIBULEARS - BPXEIZELIMNEE (BE 37 ):

( £ ) Spelman and Brown FTZ k&R B IR 211 2 ?

( 7N ) 7E Spelman and Brown ff 5% 2 BURVEBLIWF 2T - B{0Af5TEEIR ?

( £ ) Spelman and Brown 3TN E G E 12K B 4000 EHFRE S - SLLEMTE R
EEREEHFPRTEAN?

( J\) “dogma of police administrators” Y = 5 4 1] ?

7Y ~ Essay : (30 73 )
Write an essay on the following topic. The length of your essay should be no less

than 100 words and no more than 200 words.
“Mobile Police Station” and its Impacts




